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Physical Quantity

T

Base Quantity Derived Quantity
Base quantity Symbol SI unit CGS unit
Length Jd jh-“
Other names: L meter (m) Centimeter (cm)
Distance, width, D M
height, depth SFagiin
PR kilogram (kg) gram (g)
Mass m
— ploasls ploa
. il second (s) second (s)
Time t 4.\.1.,'—1.:'\ 4.\.1.,'—1.:'\
Derived Quantities
‘ Quantity H Definition H Formula H Units
length
Velocity distance v=dit time
de ) time B m/s, cm/s, km/h
Accelerati veloci length
Accdteration velodly —f, — v (tme)?
time m/s”, cm/s®, km/h?,
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Prefixes:

laline i 45 AalS Ayl 8 Ll Cag B30 (e s ahaile 5l 4alS (40 3 jle

Kilo (i) K 10°
Mega (@) M 10°
Giga (5») G 10°
Centi (i) c 102
Milli () m 103
Micro (s55) 1 10
Nano (+Y) n 107
Pico () p 10-12

saaa s g il Lpulu) il ) adaliall 028 (e sl Ciliai -]
3 0e 5oke s (Km) e SLSY Lpansi Baan Saa 5 Lskasy (m) i) 8285 ) (K) LS Alal vie Db
i) il
O sl Baaal) A8l AU Ky o3 e
1 km= 10’ m
AT Ja
1 cm (Uiie)=107m,  1kg(asiS)=10"g, , 1ns(3Susb)=10" s

Leslie Lia Sl (03 -2

lem=10"m 2 (1em)’ =107 )Y (m)’ > lem’=10°m’

1km=10m 2 1 km*=10°m* = 1km’ =10’ m?

Miad  Hlaia S dpalall @l jpeill 8 Lgaladind (Say -3
3560000000 m JS& Lo ails (Sa=d 3.56x 10° m

(G) 585 Jsaall (e 43w Ly (P10) Jaies
3.56x 10°m = 3.56 Gm= 3.56 gigameter
0.00000492 s = 4.92 x 10° s
=4.92 1 s =4.92 microsecond
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Scientific notation

Of (o 222 dpalal) Al o3a 3 yall a5 lan 5 sl slae W) UKD Qs (Apaled) LUSD ) o sgdall 128
Al gl Can ga Ll Gl 1310 8 (8 Lspiae 1051 (o sane 220 JSE Lo daall 138 (S
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1. 58?6 X 105\

ﬁ
4&41.&.“ 107 :
105 1 i Jseasa faia A 1l \ Gllu i i g0 s 3

Aaldl) 3y 2B Y (e 230 gl

S BE Ll s
3.8 x1000= 3.8 x 10° e JS5: 3800 )

-5
0,00006 = 6x107 _ . 1

How to Convert Decimal to Scientific Notation: a3 (calall pail) ) (5 dal) aaall Jygat A4S

sanll (e e Lgaazai Lild alials e (s ging W sl S 135 V) 8 arall 22ed) 8 ALaldl) aaza g ypaai -]
254879 =>» 254879,

gl (8 sllaall s abialdl) i 50 2125 -2

) ALaldll aia ge ) o sllaall ALaldll i s (e 2all -3

Adlis o HLEY) aaiai Hluall US a5 13) 5 doas 50 3 LY aacad (el US jas 13

10 of ) il aaall xd 3 -4

(1) Jue

65000000. & 65000000, = 65000000. 65x1gj
S T B

(3) To right

.0000987> .0000987 > .0000987- 9.87x10”

T (1) T (Z)T UI?-l?f.FJuT (4)
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8.790,000,000= 8.79x 10°
8.7900.0000,0,

8.790000000 o 1 2 3456 7 8 9
32,500= 3.25x 10* 3.2500 5 2599
000458
000458 = 4.58 x 10 000498 | ™ AR
' 4 321

.00004945= 0000
5

4945 =4945x10°
43 21

How to Convert Scientific Notation to Decimal: &8 s 1) alad) el aae st A

Ca le Lemai Wild aliald e (g ging Y doal) (IS 13) 5 JIgud) (8 amal) 202l 8 ALaldll aia g0 aa3 -]
JAaal|

Onall &l jat alalall d L g 5 LEY] CulS 13)
aall a5 alialil) ol 4l 5 LEY) S 13)

1.4958x 10°= 1.495800, = 1,495,800

123456
5x10°= 5,0,0,000000 =500,000,000
12345678
8.2x 107 = 0,0.0,0,0,0,8,2 = .00000082
76543371
7 x103= . 00,7. = 007

9.87x 105 = 98,7,0,0.0, = 987,000
1
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0,00 =9.243x 106

9,243,000 = 9.24,3,
12345
124 = (1.24)(100) = 1.24 x 107 0.000 000 000 0436 = 4.36 x 107"
93000000 =9.3 x 107 4.2 x 107 = 0.000 000 42
3.6 x 10°= 3600000000000 0.000 000 005 78 =5.78 x 10~

General Rule

(10™)x@o")=10'"m*" (10 x (10%)=10°
(a x 10%)(b x 10") = ab x 10** (5.0 x 10%) x (3.0 x 107¢) = 1.5 x 10~*
10% (x_ 10+7 10+7
- = y) _ +5 _ +9
oy — 10 oz = 107, 5 =10
(10%)Y = 10*Y (10%)* =10°®
Change units
) g o gbeadt Claa gl G Apadll ¢ Eua Conversion factordisaill Jalaa (pame Lay daad) co pad cilas gl) Jy 2 sic

“ia

1 cm=10"m

. 1cm 1072 m
Conversion factor= ——= =1
107“m 1cm

Jagadl) Jalra 2aad Jgead) (A pthiall G o
EX.(1) 5cm=7???? m EX.(2) 5 m=7???? cm

A.5cmx5x10'2m A.5mx5x1o*2m
¥ P,

Conversion factor to convert
cmtom

Conversion factor to convert
mtocm

EX.(3) 6 km/h% = ....uveunnee. m/s>
A.

lkm=10°m, 1h=3600s

m Y km digadl Jagadll Jalaa

| km|

km| (103m 1 h?2 -4 2
6 X X [—— )= 4.6x10 m/s
h2 1 km (3600)2s2 /

s? Y h*dasadl dasadll Jalaa




